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SN YD
M MAHE A
T (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
307 212t01 & 68,000 60,000 8,000
07 H2X23 68,000 60,000 8,000
Od2XN=2(MEZ=Z) 3,400,000 * 20H 68,000
309 ME= 900 600 300
02 BRI A SHINEEZ 900 600 300
ol 298 22 900,000& 900
A2 0SS A= 19,000 19,000 0
201 LEt2 Y| 19,000 19,000 0
01 AR 22| I 4,000 4,000 0
O= &l 4,000
— MRASOISHUS 4,000,000 4,000
03 HAFS S HI 15,000 15,000 0
MNASOSHM=U 15,000, 000& 15,000
It E=s 54 828,125 743,920 84,205
T 3,920
= 824,205
=025 Sx2el 274,385 354,580 A 80,195
201 LEt2 Y| 3,000 3,000 0
01 At 22l Yl 3,000 3,000 0
Odetg2H| 3,000
—DI2ICHH SANES EE22 H&
3,000,000& * 13 3,000
202 04 b 5,850 5,850 0
01 2LHHI 5,850 5,850 0
onxEs Bpe =3
162,500& * 39 x 12& 5,850
203 YR =&H| 9,200 9,200 0
03 A =X SR =XH| 9,200 9,200 0
OXXIS M2t Xtofp&ZE A 200,000 * 213 4,200
OoI2tHHM s 2d 10,000& * 1004 = 53] 5,000
301 Bt A= 36,535 36,730 A 195
06 @2tol = 2| (4 HI 7,000 7,000 0
OoMit2es =28 XA
1,000,000& * 7 * 13 7,000
09 HALAHIEA = 29,535 29,730 AN 195
OMOIZ2XNE X S22 & =
157,000& * 80Y 12,560
OMOISXNEA sE2dus & 4% AdEY
97,000& * 959 9,215
OBIEAHA)] W & &I U244
97,000& = 409 3,880




2N #HH
HH: HTBY A
el DB HEE BX CER-ED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OXNRsdHY ux s F41 AH24
97,000& = 409H 3,880
307 glz2tol & 219,800 219,800 0
02 IZtE M AHE L 129,800 129,800 0
OMOIE221 (=AM S) 10,000,000% * 1JH A 10,000
OMOIEE21 SANE&Us 2,000,0008 ~ 12 2,000
OMOte2l &4 14,000,000 14,000
OMOt=2s =HE8ME X
30,000,000& = 12l 30,000
O=02stHM d=3Us S N2 (Mot22s,
BI2AAD, A2EAY) 2,000,0008 * 43 8,000
OBRZNREAY Y25 o42sy Ast
5,000,000 =+ 13l 5,000
OMOIE=2s Ardl XI& 33,600,000 33,600
OtHtZ2AH &2 AtHl & 19,800, 000& 19,800
Ost=TREHENU ALHHl K& 7,400,000 7,400
03 QIZtHNHE2HHEX 90,000 90,000 0
OMOts2s 2gdl XA 43,000,000& 43,000
OtH2AH&II2s 23H XN 27,000,000 27,000
Ost=sEHY 24H X 20,000,000& 20,000
HiZel AtslEr 2tel 174,000 139,000 35,000
301 LAz 49,000 49,000 0
04 tSLHUHLH XA 45,000 45,000 0
ONsYHUA s X (oAbl S)
3,000,000& * 1504 4 45,000
09 SALAHIEA S 4,000 4,000 0
OXNYG=H € NASAES FWHX A28
10,0008 * 400 4,000
307 glz2tol & 90,000 90,000 0
02 It S AIHE L 90,000 90,000 0
OLAHIHXTMNAXZME K&
20,000,000& 20,000
ONSYHE X4 U FEAY S N
18,000, 000& 18,000
OHMEAN 28 2 P5HEHH S Ng
35,000,000 35,000
OEoAl NH & NEMNY S X
6,000,000 6,000
OSLHl JIgt=48 A & X &
11,000, 000& 11,000
402 RI2HXt20l 35,000 0 35,000
01 212t 2 AL E = (REMTH ) 35,000 0 35,000
OfgHEE 2R YHE=EIZ XA
35,000,000& 35,000
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SN BHD
HH: HTBY A
el DB HEE BX CER-ED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
MOFEXNEX X &sts X& 7,840 7,840 0
< 3,920
s 3,920
301 gt d= 7,840 7,840 0
< 3,920
s 3,920
02 ¥et=stit= 7,840 7,840 0
OMOISXIEX Tt &Het=a  980,000& » 8 7,840
< 3,920
= 3,920
U nsFd 60,000 78,000 A 18,000
201 L4 21,600 21,600 0
01 At 22l 3,600 3,600 0
Oget=&H| 3,600
—QEIxH =0 S|
200,000& » 32 = 3H =« 23l 3,600
02 =24l 8,000 8,000 0
Oz22= & HA 8,000
— =M 223 5,000,000& 5,000
—=ZHuUE RELS 3,000,000& 3,000
03 & Ar2 I 10,000 10,000 0
O=HuREA nx #A2ZH 10,000,000 10,000
203 YR =2t 2,400 2,400 0
03 Al =AY R4 2,400 2,400 0
O=Husgsd s 20,0003 = 30Y¥ =« 43| 2,400
301 et d = 36,000 54,000 A 18,000
06 212t2I=2l 04 Hl 6,000 24,000 A 18,000
O=MuFEZAl 2I2tel NFE A2
600,000& = 109H 6,000
07 2BI=& Kbl 30,000 30,000 0
O=HRIEA 2HX =3
1,000,000& * 30 30,000
HAU=0IS =S AS 251,900 144,500 107,400
201 Let24d] 15,900 13,500 2,400
02 =24l 15,900 13,500 2,400
O3 & HA 15,900
—MIMNBSZ2(7T4HL) 15,900, 000& 15,900
401 AIEHI L 2 CHEI 236,000 131,000 105,000
01 A& HI 236,000 131,000 105,000
oYy E CCTVE Xl 236,000
— AR EXI(8MHA) 5,600,000 = 25CH 140,000




SN BHD
HH: HTBY A
el RIS X (SHol: @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— &Y WA (1290 4)
8,000,000& * 1204 96,000
MOIE2s =& 243t 31,000 6,000 25,000
307 gl2tol & 31,000 6,000 25,000
04 DIZHHALALSE E X 31,000 6,000 25,000
OMBOIE2 & 2184l 3,000,000& =+ 13l 3,000
OMOISXNEX 3l 3,000,000& = 13l 3,000
OMOIEXIEX &tots Tl
25,000,000& = 13l 25,000
H2ALII2s =2 8435t 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 QIZFHALAIH B = 7,000 7,000 0
OtHtzA&II2S 8its taial
7,000,000 = 13l 7,000
FE2 ASLHAE sOtsU 7,000 7,000 0
307 glz2+ol & 7,000 7,000 0
04 QIZFHALAIH E = 7,000 7,000 0
O¥gEz NELdHHAE S sOSUHa
7,000,000 = 13l 7,000
st=2tREHY XA E24ds5t 15,000 0 15,000
307 glz2tol & 15,000 0 15,000
04 QIZFHALAIH 2 = 15,000 0 15,000
O=2NRsHY &0ts GEUE
15,000,000& =13l 15,000
ZESHALY 3,969,295 3,238,102 731,193
= 15,491
< 36,383
s 3,917,421
HEZEBtALS 886,254 805,592 80,662
= 7,931
s 878,323
HEZEANAE 29I 469,586 495,379 A25,793
201 Let249] 325,800 275,637 50,163
01 At 22l 131,050 116,350 14,700
Oger==EH| 131,050
— dAbA 23 1,000,000& * 1JH 2 1,000
BHOIEI Ol Z (LTO) & 200,000& = 104 2,000
—28 0UA3 I ==&
15,0002 * 200K 3,000
—HIYEE 48 2ZEFNH ¢ 125,050
MNHE HHolHA A #8Al 490,000 » 252 12,250
PCE HIOIH A YAl 30,000& = 800= 24,000
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2AM: #H
M FESALS
Ee: HEFESAY (chel & 9l)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
MSIIA A2 AP A
270,000& = 2002 54,000
-JIE HEYRE 4 2ZEHO
500,000& * 302 15,000
SAHIAE ATZEYN
3,300,000& * 62 19,800
02 3323l 194,750 159,287
OA &&= Xl 194,750
—LYEEAEFI(UPS) R E =
56,373,000& = 0.08 * 1.1 4,961
— 2857 RAES
41,000,000& * 0.08 * 1.1 %= 9/12 2,706
—EXNEEANAEKLIS) FANE+
198,592,000& * 0.09 * 1.1 19,661
—USBECHZ2|AIAE S E=
25,230,000& = 0.1 = 1.1 2,776
—2ZEQN Xt 2 IHX 2elAIAE KA
B 51,453,0002 * 0.1 = 1.1 = 7/12 3,302
—SSAECXN ¥ HHTH RIS
729,301,230& = 0.08 * 1.1 64,179
— 2-LIctAlAE 48 AZEQH RN+
131,680,000& * 0.14 = 1.1 20,279
—PCIHIBE ZEHEANLAE RIS
45,000,000& = 0.1 = 1.1 4,950
—2-Lict B E EHEANLAE RN+
29,000,000& = 0.1 = 1.1 3,190
—NHEZHOH SH2AAMALE FRAES
67,800,000& = 0.1 = 1.1 7,458
—ATEQN BRALAE RANE
18,840,000& * 0.08 * 1.1 1,658
—UCHI A MAIAE SIE =
210,163,000& = 0.1 * 1.1 23,118
—FATBAAY SRS
26,600,000& = 0.12 = 1.1 3,512
— YA EX(UPS) EEX WAl
33,000,000& * 14 33,000
202 oddl 5,600 5,600
01 = LH o4 1l 5,600 5,600
OHEN ARUSEFL(HIFE NABERES,
got 5) 175,000& = 4H « 83| 5,600
308 XXM S0 A 112,142 112,142
10 B2 S BAHAE AR 112,142 112,142
OSSIIEAIAE |SXE =
1,084,767,852& * 0.075 » 1.1 89,494
O38JIEt SRANAH RAEBx(ANZR 2223
) 2,908,000& 2,908




SN BHD
M HLEFALY
Ee: HEFESAY CEE-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
OMSAAE HABIAHAZ 29H|(AM2FP 2Y
=) 7,000,000 7,000
O2-LIetA A HdHIAHAZ 29H| (A2
242) 12,740,000 12,740
403 XX SHHS K20 & 3,044 0 3,044
02 BI2SHUESAN=2EAEAIS Y 3,044 0 3,044
OZ2ED|8t MollE ds5s AZEYN 20l
A el 3,044,000& = 1A 3,044
405 XHo&HF S HI 23,000 50,000 A 27,000
01 XA 2 FF S| 23,000 50,000 A 27,000
O A |E A A 18,000,000 = 14! 18,000
ORTHHAZ A (PS)AE Y| 7
5,000,000& = 1Al 5,000
NXSH 20/ =SS &4 DHAR 28,668 28,668 0
= 7,931
= 20,737
201 LBt | 28,668 28,668 0
= 7,931
= 20,737
01 AP 22| H| 28,668 28,668 0
OYxtz 28,668
—ANZ2FP HEABAAEY S WA
28,668,000 28,668
= 7,931
= 20,737
20|88 S &Yl Wil 388,000 270,000 118,000
405 KHoHFE S HI 388,000 0 388,000
01 JHAY 2 E F S H 388,000 0 388,000
OEeAECAN WH S 388,000,000& = 14 388,000
NEHLESAIS 325,179 252,291 72,888
= 7,560
= 12,812
= 304,807
d230l2 &9 15,126 15,126 0
201 et d| 7,896 7,896 0
01 AP 2t 2| H| 2,376 2,376 0]
Ogbtx=2H| 2,376
~H2BH0IS FHSAR(WN 24,84 &
=) 99,000 * 204 « 12€ 2,376
02 22244l 3,120 3,120 0
O2222 <2 HA 3,120
—AB0|84EH MIIE S
130,000 = 128 * 204 3,120




2N ™
M HLEFALY
G2 NESHESIAIY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
03 A2 I 2,400 2,400 0
OXES0IS sEAME EEEA A S
600,000 = 2)H0IS = 23] 2,400
202 o4 | 7,230 7,230 0
01 2L I 7,230 7,230 0
ONYIBEAY A2FT o DIFA
110,000 * 39 = 113 3,630
OXES0IsS MK ASH L HA ZAXOS
150,000 * 4% * 63| 3,600
HdEg02 243 NS 21,200 21,200 0
= 6,000
= 15,200
301 et A= 5,200 5,200 0
o 1,200
= 4,000
09 HAIAHI B A Z 5,200 5,200 0
OXES0IS SHE M3 AL -l 24
4,000,000& 4,000
== 1,200
= 2,800
OXES0IS A & ZOHA AHEA
1,200,000 1,200
307 212t0| & 16,000 16,000 0
o 4,800
= 11,200
02 QIZHEAAIRE E X 16,000 16,000 0
OXES0Is 243t N 16,000,000 16,000
= 4,800
iy 11,200
dES0ls T2 )32 4 37,312 33,020 4,292
= 7,560
& 6,812
= 22,940
307 2iz2to| A 37,312 33,020 4,292
= 7,560
& 6,812
= 22,940
02 QIZ2FA AAIE E X 37,312 33,020 4,292
OXBS0tES T2 ) SH2A2| X o1 AHH|
15,132,000 = 29 30,264
= 7,560
&< 6,812
= 15,892
o482 = 18,912,000& = 22 * 0.103 3,896
O&g=z2 1,576,000 = 2 3,152
ZHAIOIE 29 & 22 MH 204,241 111,795 92,446




2N #HH
M HESAMY
el NSFESAY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 93,241 71,795 1,446
01 At 22l 11,795 11,795 0
Oget=gHl 11,795
— QoY ZE AOIE EEH]
500,000& = 12& 6,000
— HAOIE Z0iel 2elbl 2,475
AEH 49,500 = 184 891
st=2 =0 132,000& * 1204 1,584
—AEHO AHIA 242
55,000& = 128 » 204 1,320
~AFEDH UE0IT AN 242
2,000,000& = 13l 2,000
02 =24l 81,446 60,000 21,446
OA&EHl Xl 81,446
—dAMOIE 28 AH X 2FH RAEF 14,794
ZAOIE AH
31,086,360& * 0.08 * 1.1 2,736
- DNS M H 7,187,180& = 0.08 » 1.1 633
- SOIHSH A
5,460,000& = 0.08 * 1.1 481
- DA HAH MY
3,800,000& = 0.08 * 1.1 335
- HAZESOH AH A
4,400,000& = 0.08 = 1.1 388
- RSt 45,980,000& » 0.08 * 1.1 4,047
B 35,500,000& = 0.08 * 1.1 3,124
-EAXANANS I
34,650,000& = 0.08 * 1.1 3,050
— &4 BAMOE &2 e SANE=S 58,430
&gz SE MOE
370,600,000& = 0.13 = 1.1 52,996
- 230t BA0E
38,000,000& = 0.13 * 1.1 5,434
—HAOIE B AZEYNH SANES 8,222
-0S EetZz Y
3,600,000& = 32 * 0.11 = 1.1 1,307
0B 53 AZEYO
24,800,000& = 0.11 = 1.1 3,001
QIHUY B2MoEs=4H
38,808,000& * 0.11 = 1.1 = 10/12 3,914
207 A RO H] 111,000 40,000 71,000
02 & AR I 111,000 40,000 71,000
ONH #o® HAs2d T
56,000,000& = 14 56,000
OBMOIE HAH HP22H £
55,000,000& = 14 55,000




2N #HH
o P ALY
el NSFESAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DB NE =& 47,300 49,150 A 1,850
201 £B-2d| 12,100 13,850 21,750
01 At 22l 12,100 13,850 A 1,750
Oget=gH| 7,400
—loEEESs Bl 2 Y H2HNS =
22 WM& S 2,000,000 2,000
—d2stu=E Wi #+¢ 10,000& » 300& 3,000
— 23 uNsE 224 200,000& * 123 2,400
o234 4,700
—D2OPAN L SAN HE HELG
70,000& * 5% « 23] 700
—HUEEES & SR uUs TA==E
50,000& = 4AI2F = 20 4,000
301 et A Z 33,200 31,200 2,000
09 AL HIZB &S 1,200 1,200 0
OzZUBEstuE NJASAA AHE4
10,0002 » 1 = 1A + 102 » 123 1,200
MIIEE4d3 32,000 30,000 2,000
O=3ESUE ZAE 32,000,000& 32,000
401 A& HI L 20l 2,000 2,000 0
01 A& HI 2,000 2,000 0
OZEsuEY S A& || 2,000,000& 2,000
PSRRI el ) B 1,390,673 1,156,887 233,786
< 23,571
i 1,367,102
FESAAAE R 22 1,083,531 965,620 117,911
201 Let24E] 609,931 604,820 5,111
01 At 22l 30,100 30, 100 0
Oger==gH| 20,500
—S44 - WEta 224l 500,000 * 204 A 1,000
—UHEHZa A28 Y (AH0s,.858)
4,300,000& 4,300
—dAFH A2 24 13,200
StECIA3 100,000& * 404 4,000
H2el 50,000& = 1084 5,400
It 50,000& = 304 1,500
JINEE 12,0002 * 1004 1,200
Ot A 11,000& * 1004 1,100
—HINAERE 2223 AL (ZAME EY
g) 400,000& = 54 2,000
Oogxtz 9,600
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SN YD
M M5
ST NECEE CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—Z5sd 928 ABYA
800,000& = 1243 9,600
02 =224l 579,831 574,720 5,111
O3 & HA 378,000
—HESMR3(2-8H 88354, oeH &
& 3) 378,000, 000& 378,000
OAN&FHISX b 199,431
—HEPSUTA ASTAAZH XS4 6.819
ANET2AAZH 2l
32,820,000& = 0.08 * 1.1 2,889
- ANESWBAEH D2 2,200, 0002 2,200
CNEHAMBES ALY
13,100,000& = 0.12 = 1.1 1,730
—UEKIEH &L IPTAIAE RXNES 107,374
23 2 S8 WEHIZY
345,035,000& = 0.08 * 1.1 30,364
2501532 UEAI Y
88,786,000& = 0.08 * 1.1 7,814
224 UEKAIEYI
37,942,000& = 0.08 * 1.1 3,339
POrEH (LSS I UEHD B2HO
g) 443,906,000& = 0.08 * 1.1 39,064
CIEf LU H St(IPT) Al A E
304,457,000& = 0.08 * 1.1 26,793
~ 23 2EAHYWi-Fi) RN+
47,520,000& = 0.08 = 1.1 4,182
—QIHYHSAIAH RXE S
07,203,000& = 0.08 * 1.1 18,234
— dAEH RXE S 62,822
ZFH 618,128,500& = 0.08 * 1.1 54,396
TelH 76,250,000& = 0.08 * 1.1 6,710
FAX 500,000& = 39CH = 0.08 * 1.1 1,716
OXt& & B 2,400
— 2S84 YRE IE |RFUH
1,400&  1,0004 1,400
— X2 BES 100,000& * 10A 1,000
202 O4dl 10,000 10,000 0
01 = LH YI 10,000 10,000 0
OMEXTZTA HR2FZ
20,000& = 3% = 100 6,000
OZFESH gR=2 250,000& * 4% x 43| 4,000
401 Al B2 2O HI 20,000 10,000 10,000
01 A& HI 20,000 10,000 10,000
SHEBEMANL &% L O
100,000& * 2002 20,000




SN BHD
M HPHAY
Sl HESMTATS (B9 ®R)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
405 XHoHF S HI 443,600 340,800 102,800
01 AL ESFH S 443,600 340,800 102,800
OZESHEH F 443,600
— =% PCuA 1,600,000& * 207CH 331,200
—doMEEH 1,100,000& * 15CH 16,500
— A 600,000& = 504 3,000
— 8= A 9,000,000& =« 6CH 54,000
— POEARIXI 3,000,000& = 7CH 21,000
— IPE 3D 800,000& = 15CH 12,000
—WmAQY 200,000 * 10CH 2,000
- ES 1,300,000& * 3COH 3,900
s gYBe 47,142 47,142 0
< 23,571
s 23,571
201 £B-2%H| 47,142 47,142 0
< 23,571
s 23,571
02 =224l 47,142 47,142 0
O232= % HA 47,142
—FNEESHL(e-22) ds8sld=z
47,142,000 47,142
< 23,571
[ia 23,571
HEZESUUAE B2 200,000 90,000 110,000
405 RHoHE S HI 200,000 90,000 110,000
01 et EZFH S 200,000 90,000 110,000
OsgeE ARX 083 5
200,000,000& * 1CH 200,000
B8 PEAHU(Wi-Fi) 2EAL 60,000 50,000 10,000
401 Al HI YL =2 Tl 60,000 50,000 10,000
01 A& Bl 60,000 50,000 10,000
O33 RHAHULWi-Fi) *SAMEY
60,000,000& 60,000
SESSE 2N 22 1,367,189 1,023, 343,857
SSZHMAH2S 1,367,189 1,023, 343,857
201 Let24d] 491,385 392, 98,741
01 At 22l 5,480 5,480 0
Oget=gH| 4,500
—SAIZEH EUH(EY) A28 7
500,000& = 33l 1,500
—SEZNAdH 2283 #
500,000& = 63l 3,000
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SN YD
M M5
& SNFESES MU 2L (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oo=24d=+¢ 980
—SATEEH2ID 2E/¥E ¢
70,0003 = 798 = 23] 980
02 2324l 485,905 387,164 98,741
Oz22= & HMA 327,572
—CCTV ®B3ME
88,000& » 2943 & « 123 310,464
—EZSstn YIS SEZMEAH HH AE
M (USHISESA)
79,200 * 183l & * 128 17,108
OAl& & Hl s Xl 158,333
—CCTVES &R Xl 22l
2,500,000& =« 381CH = 0.08 * 1.1 83,820
— QY EESEZHMALYE SRNE=
744,458,330& * 0.08 * 1.1 65,513
- SYHPAZA(PS) SR DA
9,000,000 * 14! 9,000
307 gl2tol & 697,404 612,288 85,116
05 BIZHRI & 3 697,404 612,288 85,116
OZUZZSE2HEH 28 2LHERA 2
Al 3,632,310& = 128 » 129 523,053
OxSsw FUFISSE2MAH HH 2ULH
228 S (RSHSEEN)
3,632,310& » 128 » 49 174,351
401 Al HIZ 2018 41,400 18,400 23,000
01 A& HI 41,400 18,400 23,000
OCCTV 2 ==+l 4,600,000& = 93| 41,400
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— RS sIt=Y 102,800 * 6H » 23 14,187
—NESHEXxY 1,782
DSs 463,990& * 6% * 0.16 ~ 43/ 1,782
—Jl2=sad 108,890,640 = 0.026 2,832
— oI =4l 50,000& = 62 = 43 1,200
OuTHEE Z 3,158,812,000& * 0.027 85,288
OdgsuEEga 3,158,812,000& * 0.0065 20,533
ONEotE - MISHAMNLAMY EEE2
3,158,812,000& * 0.0085 26,850
Oo=843z 3,158,812,000& * 0.045 142,147
OdAdLEE 3,158,812,000& * 0.029 91,606
OLQEIQRUEE 52,959,000& = 0.0655 3,469
O& 2z 270,000, 000& 270,000
O=U0oitl 40,000% = 5098 * 1/2 » 128 12,000
MEl=IoE B 105,000 249,600 £ 144,600
= 73,500
T 31,500
101 @124 101,640 240,000 A 138,360
= 71,148
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SN YD
Mz ALY (HAED)
cHol: ol gl (%3 ) CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 30,492
01 2 101,640 240,000 138,360
A =X &=EE ol
29,040,000& = 3.59Y 101,640
= 71,148
= 30,492
304 H=2R2E=2S 3,360 9,600 NB,240
= 2,352
= 1,008
02 B0AUESE= 3,360 9,600 NB,240
OAEXN=8T o1
80,000& * 129H& = 3.5Y 3,360
= 2,352
= 1,008
g (dd 1) 204,166 202,086 2,080
=AY (8 F D) 204,166 202,086 2,080
201 Bt A | 52,706 52,706 0
01 At 22l Yl 52,706 52,706 0
Oget+=gH| 26,570,000& 26,570
OF=1=1] 6,000& * 11 = 33¥ * 12& 26,136
202 (4] 19,800 19,800 0
01 2L Y| 19,800 19,800 0
OJlggexa 50,000 *» 33Y = 12& 19,800
203 ¥R =&H| 117,860 113,780 4,080
01 J22g9 P RF=XY| 89, 100 89, 100 0
Oo=2%=02) 52,800,000& 52,800
Oo8zZ4(0I2) 36,300,000& 36,300
02 RN R =XIH| 23,540 20,300 3,240
O&JAINNMERF=AH| 23,540
— 100Y Mt XI 80,000& * 100YH 8,000
— 101~300¥ 60,000& * 2599 15,540
04 ENSIHRF=AY| 5,220 4,380 840
ORNS2IgIRF&Y| 5,220
— 302! 0| &t 400,000& = 12& 4,800
— 3091 0| & 5,000& * 78 = 12& 420
204 X R =S AH| 13,800 13,800 0
01 XS RHFH| 13,800 13,800 0
o=z 650,000& = 12& 7,800
Oz 400,000 = 12& 4,800
Os53 100,000& * 12& 1,200
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